Y TORNEO

B-370BL

HEPE‘-IEHb KOMIMJ1eKTYHOLWNX

Ne OnucaHue Cneuudpukaums Kon-Bo, wt
1 Mopy4eHb 1
2 PykosTKa M8x65x30 1
3 Brynka 8x12x30 1
4 OnneTtka nopy4Hs 2
5 LLlan6a rpoBepHas 8.1X14.5x2.4 6
6 LLlanba M8x14x2 2
7 Pama ocHoBHas 1
8 KpblLLKa NOpYYHA 1
9 TpeHMPOBOYHbIV KOMMblOTEp 1
10 Kabenb garymka nynbca 600L 1
1Ll MaxoBuK D240x35Wx3.5KG 1
12 MoAWMAHNK 6003-2RS 2
13 OcCb MaxoBuKa 3/8"-26x120L 1
14 ranka ¢pnaHuesas 3/8"-26X7T 2
15 ranka 3/8"-26x3.8T 2
16 KonbLo cTonopHoe 9.3x11.5x1 1
17 MoAWNNHKK 6300-2RS 1
18 O6roHHas mydpra D35x17 1
19 LLikne D32x8) 1
20 MNoAWnNNHMK 6000-2RS 1
21 Lan6a 10x13x2 1
22 CToviKa nopy4Ha 1
23 LLlarn6a n3orHytas 8x19x2 8
24 BONT C BHYTPEHHUM WeCTUrPaHHUKOM M8x16xP1.25 4
25 BUHT M5x12 4
26 Kabenb cMrHanbHbIv 700L 1
27 Kabenb cMrHanbHbIN HUKHWA 600L 1
28 MoAWMAHNK 6203 2
29 Ocb LKMBA D17x176 1
30 LLikne D232 1
31 BOAT WecTUrpaHHbIv M8x12 3
32 Kntoy raeyHbln 13.15 1
33 Kty wecTurpaHHbin 6x30x84 1
34 Maruut 1
35 LLlan6a rposepHas D8,1xD14,5 4
36 LLlan6a BonHoBas 17.5x25x0.3 1
37 Lan6a 17.5x25x0.3 1
38 Kodkyx lekopaTUBHbIN J1eBbIN 1
39 Kodkyx [leKkOpaTUBHbIN NPaBbl 1
40 Mepans 1/2" 1
4 BWHT C NOTaMHOWM ro/10BKOW 3/16"x3/4" 4
42 BUHT ST3.9x50 5
43 PemeHb 370J6 1
44 CepsomoTOp 1
45 BOAT WecTUrpaHHbIv M5x16LxP0.8 2
46 KosibLLo cTonopHoe 15.7x19.4x1 1
47 BONT C BHYTPEHHMM LIECTUTPaHHUKOM M8x16LxP1.25 4
48 BOAT C BHYTPEHHMM LLIECTUrPAHHUKOM M5x12 2
49 Lan6a 12x25x2 1
50 PykosTKa 7/16"-14x20.5 1
51 Maruut 1
52 BOAT WecTUrpaHHbIv M8x55xP1.25 1
53 Lan6a 8X19x2 1
54 [anKa camoKoHTpALLasCcs M8 1
55 Mpy>XnHa 1x8.5x48 1
56 Onopa nepegHas 1
57 3arnyLuKa onopbl nepegHen 2
58 BWHT C NOTaNHOW rosoBKon ST2.9x8 2
59 PONMK HaTsXKHOWN 1
60 LLIaTyH neBbIn 165 1
61 LLlaTyH npaBbii 165 1
62 [lep>katenb 6yTbI0K 1
63 Onopa 3aaHas 1
64 3arnywKa onopbl 3agHen 2
65 dukcarop 1
66 BUHT M5x10xP0.8 1
67 PykosTKa M16x27xP1.5 1
68 BTy/Ka nofceAenbHoro Wrblps 1
69 MoacenenbHbIV WTbIPb 1
70 Onopa cegna 1
71 dukcaTop onopbl cegna 76" 1
72 3arnywka 20x40 2
73 Cepnno 1
74 BUHT M5 2
75 BTysika watyHa 2
76 MoAWMIHNK 6000 277 2
77 LLlan6a BonHoBas 10.2x13x0.3 1
78 Lan6a 6.5x13x2 1
79 BOAT WecTurpaHHbIv M6x10xP1.0 1
80 Kabenb CMrHanbHbIV HUKHUI 350L 1
81 Kabenb nutaHus 200L 1
82 baok nuTaHus 9V,0.5A,1800L 1
83 Knto4 MHOrodyHKLMOHA/bHbIV 13.15 1
84 KO>XKyX CTOMKM MOpyYHs 1




B-370BL

MoaeTasnibHaa cxema TpEHaXKepa




